Missing Numbers in Equations (A)

__—8=3
20+ __ =140
14 x___ =112
12+_ =30
__—12=15
_ =20=2
120+ __ =20
27 —__ =7
__X3=12
8+___ =23

Fill in the blanks.
_—=7=7 78+ __ =13
33+_ =3 15—-_ =11
19+_ =1 31—-__ =11
_X2=2 16 +__ =24
2+__ =18 90+_ =9
__+=20=15 14 x _ =182
__x18=18 __—9=6
__+16=7 __X5=55
18—_ =3 _ X11=132
14—-__ =1 12+_ =4

__—5=

130 +-__ =13
320+-__ =20
__+1=3
44+__ =6
9x__ =153
__+20=34
__+10=27
14 x _ =140
11+__ =19
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Missing Numbers in Equations (A) Answers

__—8=3
_ =11

20+ __ =140
__ =20

14 x __ =112
=8

12+ __ =30
__ =18

__—12=15
__ =27

_ +20=2

Fill in the blanks.

__—=7=7 78 +__ =13

__ =14 __ =6

33+__=3 15—-_ =11

=11 __ =4

19+__ =1 31-_=11

__ =19 __ =20

_ X2=2 16 +___ =24

=1 _ =

2+ __ =18 90+__ =9
=16 =10

_+20=15 14x_ =182

__ =300 __ =13
X 18=18 —9=6
=1 =15
~16=7 X 5=55
=112 =11
18—__ =3 X11=132
__ =15 =12
14—-__ =1 12+~ __ =4
=13 =3

__—5=3

=8

130~ =13

=10

320 =20
=16

_ +1=

=2

44+ =6

9x =153

=17
+20=34
=14

_ +10=27

=17

14 x =140

=10

11+ __ =19
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